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ACCOUNTING AND FINANCE

Paper - I (Income Tax Law and Accounts)

TimeAllowed:ThreeHours Maximum Marks : 100

Part-A ( 9RT-37) {Marks: 20}
[ W T % ST I T 797 1 3| 20 T8  31fes 167 2 =9
Wi Tl F TR E |
' Part-B ( ¥T-9) ~ {Marks: 20}

'mﬁﬂ?am#f%wéﬁrqnmmwwsomﬁﬁ a1feres 1 B e

A I FFTAA T |
’ _ Part-C ( HFT-® ) {Marks: 60}
T TR Q TF W T4 S, FeA i T HITSTT | T, ST 400 W) A
St 1 S T | Tt ol F STH g E
Part-A
HIT-A
1. Write any one basic condition for an individual to become resident
in India.
e vRa 3 e S e et o st wd =t fafaw)
2. What do you mean by Sweat€quity shares.
e gHa o9l § Y FREHT § ? '
3. How is the annual value of a let out house property calculated.
T R ST HEFA F A T Ft 710 TR FHR 1 S © 2
4. Explain the-Terminal depreciation.
Sfam s AR
3. Wahenis maintenence of books of account compulsory for any assessee
carrying on business. |
, \ forct off o G IR FRET & T SRTen it gEs W w9
© HAfEE g e ? |
6. Write in brief the provisions of Section 54 EC in relation to exemption
of long-term capital gain on investment made in specified securities.
fafire Faferai & fafmn g SR R Sl ot emii 1 -1fs %
gy F 4R 54 EC 3% Y9l @ w4 H fafag)
7. Abhishek received during the previous year 2014-15 on 31* December
a som of Rs. 14,000 by way of winning from Rajasthan State Lottery
and a sum of Rs. 3,000 by way of winning from horse race. Calculate
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the amount to be mqluded in his gross total income.
arfirdrer =1 T T 2014-15 H 31 TR A ToTea™ IR &l el |
S i TR 14,000 TIC TTE TS 70 RIS I TH T TR 3,000 T9T
WTH g | SR Tehel ol 3G A ) I e T I Hife )
The total income of an individual for the previous year 2014-15 is
Rs. 3,10,000 which includes long-term capital gain of Rs. 80,000.
What will be his tax liability if he has agriculture income also of RS,
1,00,000? |
e Tafie s =i T ad 2014-15 9 e 3714 3,10,000 TS
80,000 Tl SR gt e |t | 3ife 38 i 5t 1,00,000
ST T T Y A FBN T A fehaH &I ? _
9 When and how much has an assessee t0 pay advance tax?
@Waﬁmaﬁﬁmqu—sﬁn%?
10. What do you mean by Permanent Account Number (PAN)?
Tl T G R ST W E 2
Part-B ( HFT-d ), o
11. Dr. Mukesh Gupta is a lecturer in Government College, Bikaner.On
July 1, 2010 she has been fixedabRs. 44,380 in new pay scale of Rs.
+37,400-67,000. In additiom to/it Rs. 9,000 is payable to her as
academic grade pay. AS\Der Government rules annual increment 15
given @ 3% of Salary and academic grade pay which is rounded off
in the multiple 6f Rs-10. Eind out basic salary of Dr. Mulfesh Gupta
| ] ear 2015-16. :
gtggﬁﬁmm W#W?l ey 1, 2010
3 37 400-67,000 T 1 T FT FEA 44,380 T TR
e 5% SR 3 9,000 m#mézzﬁfm”ﬁ?ﬁféa?t e
WWW&WWﬁW.? an‘ivavqﬁa?mﬁ?% 10 .
W%Wﬁ'gnﬂﬂﬁmw?l ¢ Freifeor o 201516 % fe7q L.
D2 gma:‘rgaa?a#am Fiford | | B o
12. Find out depreciation for the assessment year 2015 -16. Wntte-n o“;;
value of a building on 1.4.2012 was Rs. ‘40,0(,)0 on which '5
depreciation Was allowed. On June 20, 2012 thé company acquired
another building of the same block for Rs. 4,00,000.
% wﬁufwra#’zow—wérmgwgrg#mﬁﬁ@j' o
13 Explain the provisions Qf the Inc?mz Tax Act pertaining to the
| deduction of any four of the following expenses. (any two)
@  Partly Agricultural Income '
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14.

15.

16.

@

@i
(ii1)
iv)

(i),

(i)

(i1) Perliminary Expenses

11} Expenditure on Scientific Research

frfafea =& =t Fd F weiy § st sHufrm % JEuE H
3B Y (HE Q)

(i) HI: FiN A=

(i) IR

(iii) S SgHYA W=

What is meant by deemed income? Write such incomes.

‘e T T § e e ® 2 Ut ol i fafa)

Write any five incomes on which tax is deducted at source?

At e i ST Y fefary, R ST T TR R e SN € 2

Part-C (\FT-6) . .
How is residence of an assessee determined forinecme tax purpose?
Explain the incidence of residence on tax Aiability. 20

mmmmm%mmmﬁuﬁamm%?

. FEr T A R ) IR ISR

OR:
Mr. Manmohan is employediinIndia Textile Ltd. Bombay on a
monthly salary of Rs. 10,000-In addition to his fixed salary, he is
entitled to commission @ 1% on the sales made by him. During the
previous year 2014-15y he had received following allowances and
amenities from his employer:
Deamess allowances @ Rs. 1,000 p.m. Whichis granted to himunder -
the terms.of émployment and counted for all retirement benefits.

Honserefit allowance @ Rs. 500 per month.

Bonud'equal to two month's salary. .
Entertainment allowance @ Rs. 250 per month since 1* June, 1999.

The company paid Rs. 1,000 as hid Income Tax pepalty.
He is entitled for leave Travel Assistance, once in every two years. In
he went on a visit to Kashmir with his

September, 2014 during leave
wife and three children aged 12 years, 9 years and 6 years. The

expenditure incurred by him amounting 10 Rs. 12,000 as passage
money were paid to him by employer as leave travel assistance. Had
onditioned first class compartment of rail the

he travelled by air €

expenditure in this regard would have been only Rs. 8,000.

He Lhadbgen provided with the amenities of gas electricity and water,
/ were paid by the

the c:'cpaﬁse‘s of which amounting to Rs. 1,200
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company?

(viii) Commission on sales of Rs. 10,00,000 @1%.

(ix) - He has given by his employer cotton for Rs. 4,000 free of cost.

x) He and his employei' each contributed Rs. 19,800 to recognised
provident fund. The interest credited to this fund during the previous
year at 13%% rate of interest amounted to Rs. 5,400.
Compute the taxable income from salary of Shri Manmohan for the
assessment year 2015-16 keeping in mind that he spent Rs. 1,480
p.m. as rent of the house hired by him. ' 20
st T Sfea doueRe fafiee o & 10,000 TIYFHE T
Firpes & | T vt e 3 ST 3% =% 510 W T faga TR W
19 TR ot WE S &1 T 9 2014-15 F IR, 7 P §
Ferefrfiaa ST T gReTd T g

(i) 1,000 TU WiqHTE HREME ¥, St SR el Fhdl % STTER WHa
For T S ST Weft STereRTe! SRR A o H fereei € |

i) O W % A F A A |

(iili) 500 9T YfqHTe W R Wl

(iv) 135,1999@250@@@“%"%{ . o

v) et 3 1,000 TIT FT TRT S S T e <8 F T H IR |

(vi) - 3T ad H T SR TR AT T 3 THAR | 9 foar 14
# fedl & 7ot TR S o frmrsa 1299, 9T THo I E,
e TR AT % fL 7Y | 3R BRI 12,000 FuT AR STH-SH %

mﬁ#mﬁmﬁn’éﬁﬁaﬁrmmmwﬂm#aﬁ@
> < fe & 1o I aRIgEie HeH Mﬁmm@,a&wmuﬁ

HE Tl ‘ .
(vii) gg;fﬁaﬁqﬁmﬁﬁgmﬂﬂﬁﬂéﬁm 1,200 TIL
3¢ o ﬁ'ﬂ?:l-ml I | |
£y ©10,00,000 FqQ F T 1 \
R ﬁuﬁ?ﬁrma—%z;,ooomﬁ‘éégw?ﬂﬂﬁaﬁl

VY Fafer 3 19,800 TIT
® mmﬁagm%maaﬁﬁ13l/z%maﬁ‘sﬁﬁﬁlﬁ§,4oomamm

ol mﬁmﬁwmﬁmm

faio 015-16F
:ﬁm%ﬂ;ﬁﬁwﬁ@ﬁmﬁﬁmmmmmm

e fRra S EAH =19 fRy 3
e Unit- T/ FFE-H

' What do you understand by annual value of house property? Under
17.
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different cases how it is determined? Write deductions allowed from
annual value. | 20
W et % aiftes qea © amg e € 7 Tafie fRefadl § soam
Fruftor form ypR fomen sman ] 2 anfifer e o @ < < et s
fafam) i
OR( e ) |

Mr. Gopal Singh who is resident in India, has submitted the following
particulars of his income for the assessment year 2015-16:

Rs.
® Income from let out house - 15,000
- (ii) - Loss from self occupied house 500
(iii)  Profit fromradio business 41,400
(iv) Share of profit froma firm 1,300
‘W Speculation income 1,900
_ (vi)  Short-term capital gain 3,200
(vii) Long-term capital gain 8,500
(viii)  Loss from owning and maintaining - 7,000
‘ race horses
(i  Lossin gambling ; 3,000
Thf: following items have bgen‘brought forward from assessment
year 2014-15._ ,
(a)A Losses of cycle business for the previous
“‘ year 2010- 1 Which was closed in 2012-13
previous.year 3,000
) Shate/0f 10ss from a patnership firm 2,700
© Lossfrom radio business 1,900
- @ Inabsorbed depreciation | - 3,700
©) {inabsorbed family planning expenses 2,600
® Speculation losses . 3,200
(¢ = Short-termcapital loss for 2001-10 ‘ .
assessment year 14,100
@) Loss of house property for the
assessment year 2014-15 5,000

Current year depreciation is Rs. 500.
Compute the gross total income of Mr. Gopal Singh and express the

losses he is entitled to carry forward. 20
ot 7ot R < o wRa & Frarh €, w Frafon o 2015-16 F fC
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T 3T =01 Tt foero wega @ €

. ' *qq
()  fUT RSN M HEA | A 15,000
(1) & % @A 6 WHEE 9 T ‘ 500
(iii) e W@ oY : 41,400
(iV)- . q'“:f '@Imﬁm - 1,800
-(V) - @*Waﬁeﬂm | ‘ 1,900
Cvi) - SRR 3200
(vii)  <elerTet it @ 8,500
(viii) JSFANGHMw@IT T 7,000
(ix) JE=E 3,000
=1 forefor /& 2014-15 § Fr 7 T O TR €
(@ TRt SR it Taad 2010-11 Hi
g, 5t e 2012-13 H 9
fean j . 3,000
(b)  HTEHGR WA R T H R 3,000
(c) Yedr=mmstet 1,900
(d) ST B = . .3,700
()  3mifyg sfER R == 2,600
hH T2 FAURFIEIE 3,200
) TR Goit F1T 2009-10 T ‘
freifcor e =1 14,100
(h) AetuRoad2014-15FTFT 0 | '
geafa <t w1t | 5,000
gy i e o 9 Fd mﬁmﬁrﬁﬁwm%’ aﬁmﬁ?é
- O eI TR & S ?
18.° From the following particulars compute-the total inxome and the net

tax payable or refundable by Shree R.S. Sharma an individual assessee

for the assessment year 2015-16: _
Rs.

@ Income from let out property (25,000
(ii) Income from business and profession 10,76,000

(iii) Long-term capital gain (computed) 1,72,000
i) Dividend received from co-operative

society 9,000
") Received interest from unlisted '
" deventures of a company 9.000

ey
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(vi) Winning from M.P. State Lottery in

December, 2014 . 30,000
(vii) Donation to charitable institutions 10,000
- (viil)  Paid premium of insurance of his health
by cheque 18,000
@ix) Donation to National Defence Fund 4,500
(x) Deposited in Public Provident Fund 70,000
(xi)  Purchased National Saving Certificate |
~ (VIissue) 35,000
) Interest on Saving Bank Deposits - 20,0001, 20

Frfafaa SR @ 5t STy, v, St i U =3y gt €, 1 a
Fraftor o 2015-16 % U Tt o1 U Y ¥ X SAgE] AGH ! AT

it

@) T W 3o T wER i W E S 7 (-) 25,000
(i) SR Y W H I : 10,76,000
(i)  Sreieprer it @ (Tor fRenge) 1,72,000
(Gv)  EEwR affaE  weE anim, 9,000

v) U FE % g G S 9,000
(i) R T e

T ST fea=R 2004 | 30,000
vii)  goaTef HERSH FH - 10,000
(vii) T T hwaree % o
. i<« A , 18,000
(x) TEREETHTH A 4,500
) \ (orste sfstfedsmsa 70,000
G\ \ U9 aea-menEE PR e 35,000
(xii)," ¥ F o G F SH W A | 20,000

| Or .

“THere are two partners A and B in a firm of C.A. The income and
expenditure account of the firm for the year ended 31st March, 2015

is aunder :

Office expanses 1, 10,000
Salary to employees 70,000
Salaryto A 48,000
Salaryto B - 72,000

~ Interest on capital @ 24%
e —
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@)

(i)

()

b !

A Rs. 6,000

B Rs. 9,000 15,000
Net profot 8,000
3,23,000
. . Receipt from clients 3,23,000
o 3,23,000

‘Other information is as under: |

There was no provision in the partnership deed on 1.4.2014%or
payment of interest on capital and salary to partners. On_1# June,
2014 the partnership deed was amended. Accordingly with differ
from 1.4.2014 salary Rs. 4,000 per month was allowed to A" and
salary of Rs. 6,000 per month was allowed to B'and'interest on capital
was allowed @ 24 per annum to each partner.

During the financial year 2014-15 a long-4ermeapital asset was sold
by the firm and on the cost inflated indieed/d long-term capital gain
of Rs. 1,75,000 was computed. Onthebasis of the above information
computed the total and tax liability.of the firm. - 20
WY, T v A QA WERRA TS T 1 31 T, 2015 W A A
a8 ¥ fou 39 v 1 smeeg an frafafas weed:

I
HEE <4 . 1,710,000
FH=nfAl F1 96T . 70,000
ArTEga 48,000 '
B T 72,000
YIRSt 24% T W A: )
A 6,000 TIT
B 9,000 TIT 15,000
E | 8,000
3,23,000
TR WA 3,23,000
o 3,23,000
371 GG W TFR &: |

1 37T, 2014 B TR TG F WEATRI A il T SIS G2 A <A
¢ e e of, freg 1 53, 2014 T WEGH Hor@ # W foRa
T T9F FIER 1 379, 2014 ¥ 4 F 4,000 T TR 79 B R
6,000 TIT FRATE A0 3 T4 F 741 S R 24% T R Y = F F9

# & fafea gem|

Scanned by CamScanner



(@

Ta?ﬁzr.an‘ 2014-15 H FH gRT Uk Sfelenter= Ysit gwafa =it 71g a91 39
W P THITT GEHih! & STHRIE1,75,000 TIT i SEihTeiT goit

&4l <t T T T |
SUYH YEAST & SMUR-GE FH i FoT T a4 F 19 ht T

T _
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